e i Rzxled ’?r



EAF{¥p

g R E
Pt ;| m?r‘ B
H iﬁ m%&-li



= 7 @%g,.ié(/mﬁ) R R
e o BB R 1 1] -



-1
o FH e R -

/ fL
4 R
”wﬁ£¢&a§o
.I‘&igrjjm'r"l $ > i
]’&’ )§

L.
= CONs
p —



R R R - 2
= f W RRS S F L aE
EEEN Py — nRT
SRR HARAT S R F
3 R PM — ORT



-3
R R

ﬁ
*i
}i‘:’

/" "g 3‘

R
°C-K e

L _{_x43.,

= x
“gm?io&owg

>N y

— i

» 1atm
L F x0 °C

L L}

? “')i=. e%}i m3
o E’1113'1‘.1;."29 kg/



R R Rty

= R 2200mm ] .F * 3+ 5 3% CO,
;‘F o FWER Z1000C ) &

p1013kPa’ ?%/11—1 =
0.12 kg/s > & & T /v
(m3/s): ® ?



T K Sl

_ PM __ 1013<10°x44 __ 3
P =TRT = 8314(273:100) — L-437Kg /m

, _m _ 012 _ 3
V_%_m_0.0SBSm /S
u=-Y_—_0085 _5gam/s

ZD?  Zx(0.2)



PRS2

% T

i Rxp> 1]

2agiipY PR B
pL aﬂbb ’*&#ﬁ"‘




= 2 HE e i

2 AR~ R RT P R
3 R R A TER WA
TR T SIS F
1B e R A 2

10



LR hE =

nH >
>SI#4] : Pa-s & Kg/m-:s
>CGSH] 1 g/cm:-s (= f-%ip,
poise, p)
> MKS+#] : Kg/m-s
>& 4] 1 Ib/ft-s

11






LR hH 23 E

=17 /4 (centipoise,cp)
= 102P
= 103Kg/m-s
=103 N-s/m?2
= 6.72x10“lb/ft-s



2R - 1

s L F 3 enpd %

ARR R R g PR

B

14



ALR e BT --- 2
= 2138 B PR 14

- LR D RMAR>F WAR




AR e -3

nFET

> RegbR = 1cp

>7 4 dkR = 0.02cp



R T — B AR

= # 3L 2 (kinematic viscosity)
> i%z Y- iﬁm%bli E? ?‘)i ekt 1B

>%¢7F/z=3

17



R T — PR

n B3R
>H 18 3 5. (stoke) =cm?/s

> F]=x :L201



AR AR

Y] ( specific viscosity )

>R RMNEER B 3R T K
m%&m“@

- B I EE



R R E

n L wmE ik (hapRiE)
= 2 3k /% (falling-ball method )

20



bafis 2

(poiseuille method)

Pl E D BE T
Lk g IR
| L gz X | R
s mg o0 g I,
PFERF o £ d S \R\
i 2338 3% . \
/’Mﬁn‘%b& O

21



PIES AR 3

(poiseullle equation)

 APartt
8VL

1L



PSS A3 B4R

=7 - WHASMLAR > v~
#0.1cm > £ & 100cm E'Z'u:
g > F&60sec £ wp &
#HBR4 1 5100mmHg > Bl
RMWRER S 5 S RIp?

23



PIAS 3 AR 3N DB 3E AR

latm 1.013x10°dyne /cm?

AP =100mmHg x

7/60mmHg latm
=1.33x10°dyne/cm?
5 4
= 1.33x10 ><7z><(0.1) x 60 _0.628q /cm-s = 62.8¢p

8x5x100

24



IR RIE-1

= § ¥ 5 T = (stoke law):
FRR T g pod
TR AR S 2
e TEAF, 0w FF
4 F_—,'—"“'r%‘/fg‘ o

25



Z IR RIL-2

&4 T Fi=F,+F;

__ 4 3 pre §
%ﬂrs,osg =27 pg + 671, L0,

_éII
Ou, 18u,

26



3 ]5]’3

-7 EBRPIERY R 0D

LHERWA KRR E 5
d WiEd ¢ Ir-Redb R B R
R TRk R

Lo oL

Al £14

27



EIRALR e R

=3 - =E5 0.lcm: B R
28g/cm3 ek o A-
%R %L 1.2g/cm3 i iy
¢ 1100cm/s ik B B

d ET o PR adR
» % cp?

28



SRR AT 2

_ 2x(0.1)°(8-1.2)x980
H = 9x100

= 0.148p = 14.8cp

29



?uj’;r FLR L E ,;—;—,»J.
-k R 28g/cm3 AR A

» lg/cm® %2 3 1cp ek
%% 1mZ & 100s: - 43k &

R 5 1. Zg/cm3m§,§£§ﬂ - 3:3
- BEAET & 60s > Bli%— Al hdk
BR% %cp?

30



3| # ZLRB VB
Rz R )
ﬁﬁ

L2
2 — ((2—1.2)><60
—1)><100

e s —
2
0.58cp



